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= OHQLQR SODQLQR VH NRQHXRGXRDPRLENXBRR6DYLQMYV
$OSH =DNUDVHOD SODQRWD OHAL PHG GROLQR 'UHWH *RUQML *
ORWQLANR GROLQR QD MXJX WED FOKRIEXRP YUQLYHF

= GREULP DYWREXVRP LQ aH EROM&LP a8RIHUMHP VPR VH SULSHO



9 VSUHPVWYX GREUR RULHQWLUDQHJID YRGQLND ,]WR
JHOHQH JULpH LQ SDAQLNH V NUDYDPL NL VR @&H pDNDOH QD RGk
LQ GWHYLOQH SODQLQVNH SRWL PLPR PDOLK NDSHOLF LQ MH]H

NDNRU GD EL VH YLOH ]DYLOHWDSBRVRNOR WEGMHIDRYUKD 9LYRC
P LQ GRPD QD OHQLQL SODQLQL

























6SR]QDOL VPR VH UD]JHQ ] ,]JWRNRP YRGQLNRP 3" *RUQM
YRGMR YRGQLNRY LVWHJD GUXawyYD WHU VL @aHOHOL GD EL OHQ
VL RE GREUL YLGOMLYRVWL VSRpLOL RpL QD OHSUKVHFROBROK JUL
6ORYHQLMH WHU QMHQLK JRUVNLK YUaDFLK



a4HOH NR VPR VH ]DSHOMDOL SURWL *RUQMHPX *UDG X
SRVLMDOR VRQFH LQ VR VH I[IDVYHWLOH YDVLFH LQ ]JDVHONL QD C







9 *RUQMHP *UDGX VPR VL V SRPRpPMR &XSQLND RJOHGD
NDWHGUDOR 6Y ORKRUM®D QHNGRQWRQDM|RDGHQFR OMXEOMDQVN
HGLQVWYHQ ER&ML JURE LQ ROWDUQH VOLNH 60OHGLOD MH VNXS









9 |IDKYDOR QDA&LP DWHG/RWINDLFO =GUDYNR

SULKDMDMR L]SRG yDYQD
QDaH SODQLQNH WUL
.DGDU VPR QD SRKRGX
YVDND QDV SRIJRVWL

SUYD MH VOD&pLpDUND
GUXJD MH SRPDJDYND
WUHWMD SLANRWH GHOL
GD SUVWHR NVAHP

1LNGDU QH J]DPXGLMR

GD QDV UD]J]YHVHOLMR

=D WR PL KYDOHAQL VPR MLP
,Q RG VUFD |[DSORVNDMPR MLP
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